SH: MEXHE
Ha: FIIZMERY HASSMHIFN
ol I EMEEE (e @
- = — N e
SA-BH.C(BH) - HRAY - B Ofl &t o il i~ o Rz
MEX R 10,296,247 9,553,694 742,553
= 7,155,708
= 906,622
2 2,233,917
2ODIZMESE HASSHBAZI R 9,296,281 8,762,249 534,032
= 7,155,708
= 900,862
2 1,239,711
p[ESCEIES 7,440,407 6,802,417 547,990
=2 5,724,639
= 713,304
2 1,002,464
=HIBIEERA=)C 159,800 6,300 153,500
201 Yer2o| 3,800 4,300 A500
01 AtR2elt] 1,800 2,800 A1,000
O 294+¢ 1,800
- MERY Y ASENNARANE B4
1,800,0002! 1,800
02 ZZ2H| 2,000 1,500 500
O 2222 2 HAl 2,000
— ABEXSE LYNYIA
16,6602 * 122 2,000
202 01t 3,000 2,000 1,000
01 =2Ujoit] 3,000 2,000 1,000
O SBXA Y2F 3,000, 0002 3,000
401 AEHIL S 153,000 0 153,000
01 Al&H| 153,000 0 153,000
O #=gElel PRUN DSFUA 153,000
— AAEHY 18,000,000%! 8,000
— EXNHYLY 45,0002 * 3,000 135,000
NASS FASBZMEAMY X 52,400 62,400 210,000
201 Yer2g| 2,400 2,400 0
02 ZZ2YY| 2,400 2,400 0
O 2222 2 WAl 2,400
~- PRAY CIIRFY 24 2,400
Bl 10,0008 * 12 1,200
Nt 10,0008 * 120 1,200
402 212FXHEOIF 50,000 60,000 £10,000
01 UAEBE 50,000 60,000 £10,000
O HASS FHEIWLAL
5,000,0002 * 10A CH 50,000
AZ=X XA 102,381 97,546 4,835
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SN MEBXRE
HE: RVD|ZMBRE HASSMBOFN R
el I EME ST (Sl #)
_ _ HE T
SN EB -GS - MBAY - BES 0 & 24 e HRE2
= 81,905
= 10,238
2 10,238
301 YLrBAE 102,381 97,546 4,835
2 81,905
= 10,238
2 10,238
01 ABIBHEAH 3 102,381 97,546 4,835
O AZ=X XA (68Z) 102,381,008 102,381
2 81,905
= 10,238
2 10,238
IIEMELZI MAHZO 4,867,203 4,720,751 146,452
2 3,893,763
= 486,720
2 486,720
301 LB A 4,867,203 4,720,751 146,452
2 3,893,763
= 486,720
2 486,720
NIREEREPETE 4,867,203 4,720,751 146,452
O MAZ04(2,733%) 4,867,203,0002! 4,867,203
2 3,893,763
= 486,720
2 486,720
AARANE ST 20,228 37,560 ~17,332
2 16, 182
= 2,023
2 2,023
301 YLrBA2 20,228 37,560 A17,332
2 16, 182
= 2,023
2 2,023
01 ABIBHEAH 3 20,228 37,560 A17,332
O MYSAANS 2T 2N
23,6862 * 8542 20,228
2 16, 182
= 2,023
2 2,023
EFEEN- RS L 1,292,529 1,388,788 £96,259
2 1,034,023
= 129,253
2 129,253
301 YLrBAE 1,292,529 1,204,788 87,741
2 1,034,023
= 129,253
2 129,253
01 ABIEHEAH 3 1,292,529 1,204,788 87,741
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SN MEBXRE
HE: RVD|ZMBRE HASSMBOFN R
el I EME ST (el &2
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
O JIZME23X FHZ04(2,577Y)
1,202,529,0002! 1,292,520
2 1,034,023
= 129,253
2 129,253
INZMELIT DF20 150,667 211,567 60,900
2 120,533
= 15,067
2 15,067
301 LHBAI 150,667 211,567 60,900
2 120,533
= 15,067
2 15,067
01 ABIZZEA63 150,667 211,567 60,900
O JIZME43X DSR2
154,371 * 244 » 43] 150,667
2 120,533
= 15,067
2 15,067
THaHoI T el 22 2,400 2,400 0
201 L2y 1,000 1,000 0
02 IT2YH| 1,000 1,000 0
O ANEZHIRHI 1,000
~ MHRBHISSX 22ED SN
1,000,008 * 194 1,000
302 OIFUTHEH &3 1,000 1,000 0
02 QI2HOITHEN 2 A3 1,000 1,000 0
O OITHE! THAHSAZ 40,0008 + 252 * 13l 1,000
307 BI2HOIE 400 400 0
06 283 400 400 0
O WHHISSX 22FD W2t bl
400,0002! * 1] 400
=TI, Asl=TY 75,79 108, 740 £32,944
2 3,868
= 1,934
2 69,994
201 L2yl 13,936 10,080 3,856
2 3,868
= 1,934
2 8,134
01 ARl 13,936 10,080 3,856
O Yer4gt| 10,736
- T Y SH #=Epy 2y
500,0002 * 67H 2 3,000
— ABEIAY 2 71,9108 * 458 7,736
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SN MEX AL
i 20| FZMERE HASSMHIET L
el DI ZME YR Hal
}\_I X xH C|—O|(§I]:”) }\-“C‘}\I.O'l HAXZ A} OH I|_‘|LI;=|_|‘:_ 2JF
cTo=m IO T ° _I_ [= Bl e (] 0:”{:'_% o
= 3,868
= 1,934
i 1,934
O 2g8=¢ 2,000
— XNGA=XEAM 8+
2,000,000& 2,000
O = & dl 400
— NY9A2l=XHE =8
50,000& * 8H = 13 400
Og xz 800
— A2I=X2e 48X X0
800,000& = 104 = 13l 800
202 044l 1,800 2,000 A 200
01 =W 1,800 2,000 A 200
O At2IS X &A=& 20,0008 * 2098 * 23] 800
O EYSHYS o2 37
100,000& = 2H = 53| 1,000
203 RF4Hl 4,000 4,000 0
03 AHEFIHRFAH| 4,000 4,000 0
O MBI=ZX SEAIM =& 4,000,000 4,000
206 M=l 15,000 15,000 0
01 Mz bl 15,000 15,000 0
O HE=23s 24 300,000& = 50& = 13l 15,000
301 YptBaag 41,060 47,660 26,600
01 MIBIEE X =0l= 36,200 35,800 400
O TQAMAASTEE YT N
5,000& = 500 = 12& 30,000
O HHd20l2 8=2++=Hl  500,000& * 6Jt+ 3,000
O AZISXAE 22 (FA,48Y)
200,000& * 23| * 84 3,200
10 EALAHIE A= 2,700 9,700 27,000
O AMaIEXIaY JIS#HAH(RAIL)
50,000& = 30% * 13l 1,500
O AMg=RX2g &K X0
50,000& = 24% * 13l 1,200
12 JIEtE2 4= 2,160 2,160 0
O HOEANH SAE 2F
0,000& * 24H = 13 2,160
ol Ak2tel 3,500 3,500 0
301 LertEas 3,500 3,500 0
01 A2IEFHL0= 3,500 3,500 0
O dAAZ T ZHbl
1,500,000& = 1H » 13l 1,500
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el
x
M
-
0
=0
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el
)
iz
0x
I
=
[
2
=P
R
12
o
£l
0l%
IS

P
20,0003 » 50& = 13l 1,000

500,000& = 29 = 13l 1,000

off &k 2 Xl = O 59,771 45,759 14,012
47,817
5,977
5,977

H

301 Let2a= 59,771 45,759 14,012
47,817
5,977
5,977

H M

A = 59,771 45,759 14,012
O ot ER=0 548,357& * 109 59,771
47,817

5,977
5,977

W

JIRAE HBA (FEYWT) 5,000 5,000 0
1,000
4,000

Ml

307 212tol & 5,000 5,000 0

1,000
4,000

Ml 1

02 QIZtFAEX 5,000 5,000 0

o

00,000& * 14! 5,000

1,000
4,000

’

Ml

KM M A SXHALY 491,741 155,826 335,915
393,393

49,174
49,174

A

307 2120l & 491,741 155,826 335,915
393,393

49,174
49,174

W

05 QIZtRE = 491,741 155,826 335,915
O XSASIMEIA SEXHALS (62 )
491,741,000& 491,741

393,393

49,174
49,174

H W

MBI SXNSEAMHIA 2RI 47,671 46,280 1,391
23,835

11,918
11,918

A

101 1A H] 47,671 46,280 1,391
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el

W0z
B 12 o
0z A
e i 40

T 0z 00

021 ifor

|

[
2

20
B
2

MW

23,835
11,918
11,918

04 JIZtHZ22 XS

O ME=XSEAMEIA EEQIAXH

1,986,290 + 29 * 128/

MW

47,671

47,671
23,835
11,918
11,918

46,280

1,391

H

109, 320
109, 320

109, 320

H

109,320
109,320

109,320

109, 320,000&

W

109,320

109,320
109,320

109,320

A K&

MW

1,789,065
1,410,711
182,758
195,596

1,799,072

A 10,007

M

1,420,728
1,136,582
142,073
142,073

1,437,901

A17,173

201 Bt

AW

4,000
3,200
400
400

4,000

01 AtR2telt

M

4,000
4,000

4,000
3,200
400
400

4,000

202 (4Hl

W

6,000
4,800
600
600

6,000

01 =LHOYI

O JZMERE

HORAY) NEEY

100,000& = 5& * 128

H

6,000

6,000
4,800
600
600

6,000

206 M=l

10,000

10,000
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e ER L
M@ 2O ZMBEE HASSMBUHI S
ool T (25l &2
_ _ SIEN
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ofl At ot Hws2
= 8,000
= 1,000
= 1,000
01 el 10,000 10,000 0
O RE22AMY MRHl 10,000,008 * 1A 10,000
= 8,000
= 1,000
2 1,000
301 LHBAI 630,728 717,901 AB7,173
= 504,582
= 63,073
2 63,073
NIEEEERSTE 630,728 717,901 A87,173
O MEI2AY = 630,728,0002 630,728
= 504,582
= 63,073
= 63,073
307 CI2H0IH 770,000 700,000 70,000
= 616,000
= 77,000
2 77,000
05 PIZteIEr2 770,000 700,000 70,000
O TE22AY I2SE 770,000,002 770,000
= 616,000
= 77,000
= 77,000
Xl XbE M Ef K| 2 176,380 148,320 28,060
=2 123,466
= 17,633
2 35,276
307 QI2H0|H 176,380 148,320 28,060
= 123,466
= 17,638
2 35,276
YIS 176,380 0 76,380
O NS xaEH 2l 176,380,000% 176,380
= 123,466
= 17,633
= 35,276
REASTHAY 32,318 34,967 A2,649
= 25,854
= 3,232
i 3,232
01 LsrE A 32,318 34,967 A2,649
=2 25,854
= 3,232
2 3,232
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S MEXAE
M B ZMERNY NASSMEOFAH
ol HE XS (Etel: &8
_ _ SIEN
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
01 AFSIE2 =453 32,318 34,967 12,649
O UHELS SHAY(22%) 32,318,008 32,318
= 25,854
= 3,232
= 3,232
DAY SR ER0| AtY 98,489 98,489 0
= 79,729
= 9,380
= 9,380
307 SI2t0IH 98,489 98,489 0
= 79,729
= 9,380
= 9,380
05 SI2teieta 98,489 98,489 0
O DA 2 E20| AP (48%)
98,489, 000! 98,489
= 79,729
= 9,380
= 9,380
NSRS ME SAX SE4g 4,800 3,720 1,080
= 4,800
307 QI2H0IA 4,800 3,720 1,080
= 4,800
10 ASISREE 4,800 0 4,800
O NEBUEHSAX SE2H(6Y) 4,800,000 4,800
= 4,800
52 SEHAY 56,350 75,675 £19,325
= 45,080
= 5,635
T 5,635
301 YptEAZ 56,350 75,675 A 19,325
= 45,080
= 5,635
= 5,635
01 ABIE =453 56,350 75,675 A 19,325
O 31U SSH A (23Y) 56,350, 00084 56,350
= 45,080
= 5,635
= 5,635
R = A 66,809 69,260 £2,451
= 20,358
= 4,800
= 41,651
MASADCOUO0IE BB KA 34,011 28,000 6,011
= 17,005
= 17,006
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M MEXRE
M FLD|ZMEEY HASSMSOTN D
o R EA (Er9: @ e
_ _ _ Muo
SA B EA(B) - HRAY - BHES O] 4+ o8 il b o HlRE2
101 1218 34,011 28,000 6.011
2 17,005
2 17,006
VI ENEEVEER 34,011 28,000 6.011
O XREM 2CIUOE XIS 34,011
— o121 31,395,002 31,305
2 15,697
2 15,698
SCEE 2,616,000 2,616
2 1,308
2 1,308
B EN- 22,292 34,292 A 12,000
= 2,900
2 19,392
201 Y2y 1,992 4,142 ~2,150
= 120
2 1,872
01 ArRB2IH| 1,200 3.350 £2,150
O Yer+gH| 800
— XEZAX SIS M 8,008 * 1002 800
O 2g+g 400
— TESAME 2ASY 200,008 * 23] 400
= 120
2 280
02 2B 792 792 0
O ANEZHIRTI 792
~ NSYAI| FNB4
33,0008 =2CH « 124 & 792
206 WEH 5,550 3,950 1,600
= 1,655
2 3,895
01 HZH] 5,550 3,950 1,600
O MESAES WEH 370,008 * 155 5,550
= 1,655
2 3.895
301 Yereara 6,750 8,000 A1,250
= 1,125
2 5,625
10 BAAHIEAS 6,750 8.000 A1,250
O MFBAIS & BA ¥ STK A
50,0008 * 13| * 602 3,000
O MESAK DSH % Al
15,0008 * 2502 3,750
= 1,125
2 2,625
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SH: MEXHE
Ha: FI|IZMERY HASSMHIFN
Sl XHE = A (e
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 O A+ 24 il i~ o Rz
307 2I2+0IH 8,000 15,000 A7,000
02 QIHHARE 8,000 10,000 A2,000
O XHASAEH QIMEIE 8,000,002 * 14 8,000
NAZAN 2E2 N 6,706 2,968 3,738
=2 3,353
2 3,353
307 2120l H 6,706 2,968 3,738
=2 3,353
2 3,353
06 H&2 6,706 2,968 3,738
O XASA 282 X2
2,573%1 * 2,606% * 1 6,706
=2 3,353
2 3,353
Hsg Jlse NHASAL XS 3,800 4,000 200
= 1,900
2 1,900
307 212+0IH 3,800 4,000 A200
= 1,900
2 1,900
02 QIAMBE 3,800 4,000 200
O M5 )52 RASASH X
950,008 * 474 £ 3,800
= 1,900
= 1,900
20t 22 22l ¥ N 195,660 209,500 A13,840
& 5,760
2 189,900
CERT] 195,660 209,500 £13,840
= 5,760
2 189,900
PEHANKY U BECHX L 28, 100 30,900 A2,800
101 Q1248 600 600 0
04 JIAH2EHSE L4 600 600 0
O BEN& ZHDI S FHEY
60,0002 * 10 * 18l 600
201 Yereg| 4,000 4,000 0
01 AtR2elt| 2,000 4,000 22,000
O ssgY| 2,000
— ®EY JE#A =X 2,000,002 * 13| 2,000
02 ZZ2Y| 2,000 0 2,000
O AN&TYISXH 2,000
— z2g gzNe2 e
1,000,008 * 23l 2,000

_75_




SN METREY
My 20 22 2ol ¥ N
SERNCE S CEEREED
_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2
01 YsrE A3 3,500 4,300 A800
10 BAFAHI 2 A2 3,500 4,300 A800
O #5Y =2#A BEIIE A
10,0008 * 250% + 13| 2,500
O #EY =2#A o) S Al
500,0002 * 2HE * 13l 1,000
307 212t0] H 20,000 22,000 £2,000
02 SIAHAEE 20,000 22,000 £2,000
O 2ECH XX 5222
1,000,000 * 107HEH 10,000
O 6.25)| 9 8A L BOIQHR A NS
9,000,000% 13l 9,000
O £248Y 2 52¥Y A
1,000,000 * 13| 1,000
FVNRBARE L NSYRSBA BE A2 6,300 6,300 0
01 YsrE a3 6,300 6,300 0
NIEEEERE 6,300 6,300 0
O HASEENSS(3.1E S)
50,000 * 128 * 33| 1,800
O HEY 22N 25 ASE
20,0008 * 225% « 13| 4,500
SYRTN L2 A 4,000 44,500 740,500
202 0it] 1,000 1,500 A500
01 =UH0id] 1,000 1,500 A500
O SYRIBN ¥2 ¢ X =1
100,000 * 2% 53] 1,000
307 212t0] 3,000 23,000 20,000
VIEIEPNEES 3,000 23,000 20,000
O 4.4 ST SYUNRS =&
3,000,0002! * 14! 3,000
AHRBA TO+Y L MYRZZ XS 151,500 124,800 26,700
01 YeraI 151,500 124,800 26,700
N EEEPE 51,500 124,800 26,700
O BHRBN Yo+
25,0008 * 4853 « 128 145,500
O BESBN MYSIZ2
50,0008 * 40% * 13] 6,000
5.18 RIFRT MYl X 5,760 3,000 2,760
= 5,760
307 212t01H 5,760 0 5,760
= 5,760
YEENEES 5,760 0 5,760
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- _ _ HNE
SH-EFHHA(FA) - NIRAE - BES Of] koK 'oﬂ/'\_FOH Hws2
O 5.18 =R SX ALK
80,000 * 6 = 12& 5,760
[ 5,760
ESUNINES 14,500 14,400 100
QALY 14,500 14,400 100
Z QA 14,500 14,400 100
201 2Et23| 8,500 5,400 3,100
01 AtS2t2ldl 8,500 5,400 3,100
O el 6,000
— HAAE ZEEX B2 S EE2 ME
1,000& * 1,50008 = 23] 3,000
— SHEIHFLER 2H EE ML HE
3,000,000 =14 3,000
O 294 2,100
— SHSEE 41X FUAK/S ¢
70,000& * 5 * 63 2,100
O = & dl 400
— HAMAE HRFZX 50003 » 2 * 40 400
202 04 1,000 1,000 0
01 =LHOA b 1,000 1,000 0
O ZMAE 22X 22 HIAL AS
50,0002 * 10 = 2¢! 1,000
301 et A3 5,000 8,000 A3,000
10 HAIAHIEAZS 5,000 8,000 23,000
O SEAME =4 2@ STZAIALE A8
100,000& * 22 * 259 * 13 5,000
Hees(Maxad) 772,951 550,690 222,261
LHEHHXI= 772,951 550,690 222,261
JIEISIHE =3 772,951 550,690 222,261
701 J|IEt2 HEES 772,951 550,690 222,261
01 JIEtHNES 772,951 550,690 222,261
O JzE2sMY SE3 M523
772,951,000& 772,951
HY2IGU(MEXAE) 16,855 16,855 0
Jl2d3Hl(MEXAE) 16,855 16,855 0
Jl2dd (MeXad) 16,855 16,855 0
201 ety 9,525 9,525 0
01 AtR2t2ldl 9,525 9,525 0
O el 5,375
— 2EA2Z SUAHA 5,375,000 5,375
O = & dl 4,150
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HH: HESARU(MENY)
C}—Ol' |EJ:! El

[y o B o

SA - BE - BA(EA) - NRAY - BES 0] & 08 a4
04l & 2
— RPASE SEAL 4,150,000 4,150
202 Oidl 7,330 7,330
01 =W 7,330 7,330
O BA2Y SHAHA 7,330,000 7,330
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